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A BAA
N DUALSA(L2H/224AZ)
ctel: AFSTAY (el &
= X 3 i P e
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ol Ak O Blusz
ERa s 10,031,674 9,800,134 231,540
= 526,076
Jl 1,099,848
Al 1,092,303
o 7,313,447
ZUHLSA(BH/BHYZ) 3,713,332 3,246,469 466,863
= 113,236
Jl 1,078,475
Al 873,896
= 1,647,725
AUSTALE 268,644 254,160 14,484
l 124,322
Al 72,161
= 72,161
=Hscld 29 105,000 94,500 10,500
7 52,500
Al 26,250
o 26,250
101 el 64,496 51,638 12,858
Il 32,248
Al 16,124
o 16,124
04 JIZtHZ2HSE= 64,496 51,638 12,858
O3HaGA 64,496
OoJlzs 42,3003 3 253 32,106
7 16,053
Al 8,027
= 8,026
Oxg=¢ 42,3003 x3H x112& 14,213
7 7,107
Al 3,553
= 3,553
O=gHl 5,000 »3H 253 3,795
D) 1,897
Al 949
= 949
Ou el 5,000& 38 253 3,795
Jl 1,898
Al 948
z 949
OZ&=0tyl 400,000& 3 22| 2,400
D) 1,200
Al 600
s 600
ON=E=E 80,0002 3 123 2,880
7 1,440
Al 720
= 720
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42,3009 x32 302 3,807

Il 1,903

Al 952

= 952

500,000 *3% 1,500

Il 750

Al 375

= 375

30,604

Il 15,302

Al 7,651

= 7,651

22|l 26,604
1Bh 2| 18,029
o=¢ 5,000,000 5,000
Il 2,500

Al 1,250

= 1,250

Ose # 60,0002 * 10H 600
Il 300

Al 150

= 150

O&H 212 50021 %2, 0000K *33] 3,000
Il 1,500

Al 750

= 750

O2¢ HAZDES 2,000,000 * 14! 2,000
Il 1,000

Al 500

= 500

OS2 DSHIHE 1,00081%1,0005 +35 3,000
pJ 1,500

Al 750

= 750

Oz2dZe|HUAZERY 429,000 429
p] 215

Al 107

= 107

oF, g 2,000,000 2,000
| 1,000

Al 500

= 500

SR EAR 1,000,000 x23] 2,000
p] 1,000

Al 500

z 500

SlEt D S| 900
oz¢zeldns 300,000 %33 900
Il 450
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=
=
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=
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=20
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o
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Jl 4,200
Al 2,100
= 2,100

01 24 -2l 8,400 20,000 A 11,600
OLIZEH AKX T 200,000& »30= 6,000
p) 3,000
Al 1,500
= 1,500
02J1Aas 2257Y 2,400,000& 2,400
p) 1,200
Al 600
= 600

A2 BZFA HIAY NE ALY 20,000 20,000 0
10,000
10,000

H =

101 1A 6,500 8,000 1,500
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3,250

H =

04 DI

v
=

oy ry

SE=+ 6,500 8,000 A 1,500
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AEIHME 9,000,000 * 14| 9,000
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H =

fol

NASs HYHE) N A 61,800 50,000 11,800
p 30,900

Al 15,450
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el A
Hm .l (3 H) o . Ea= Aol e
= 15,450
21| 28,380
| 14,190
Al 7,095
= 7,095
N2 2NSES 28,380
OZ LA 2IRY 16,580
OJlgs 42,3003 x1H»212 8,968
| 4,484
Al 2,242
= 2,242
Osg=sg 42,3003 x1H +92H 3,892
| 1,946
Al 973
i 973
O=&t| 5,000 x 1212 1,060
| 530
Al 265
= 265
Ou &l 5,000& x1g9+212 1,060
J| 530
Al 265
= 265
OIE=Y 80,0003 *1H+10& 800
| 400
Al 200
= 200
OZESIth| 400,000& x 14 x23] 800
J| 400
Al 200
i 200
2SHYA 212 11,800, 000& 11,800
| 5,900
Al 2,950
= 2,950
2 et ZH| 32,020
| 16,010
Al 8,005
i 8,005
S22/l 27,020
2 Bt~ ZH| 17,820
OCE=ME=E & E2SHHE
1,000, 000& *3& 3,000
| 1,500
Al 750
= 750
O2sMI=Z £ 222
1,000, 000& *5& 5,000
| 2,500
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M BAA
M ZALSE(E
R AL STIAMY (98
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES &hoh ‘Oﬁ,‘\jg‘g BlusZ
(Caleigs - HI2 &
10,0002 +50H 500
Jl 250
Al 125
= 125
307 2I2tol: 300 300 0
p) 150
Al 75
= 75
01 A=Y F=H] 300 300 0
OHZMEAMMAMAAZTAZE 300,000 14 300
Jl 150
Al 75
= 75
AR Y HFOH 81,844 74,660 7,184
Jl 40,922
Al 20,461
= 20,461
101 Q1] 19,500 19,500 0
Il 9,750
Al 4,875
= 4,875
04 JI2tHIZ 19,500 19,500 0
(OF=RSUN; 19,500,000& 19,500
Pl 9,750
Al 4,875
= 4,875
201 et d 4,800 15,960 A11,160
Il 2,400
Al 1,200
= 1,200
01 AtR22iHl 4,800 15,960 A 11,160
(C)=RIE = 4,800
OAd2dg 4,800,000 4,800
p) 2,400
Al 1,200
= 1,200
202 O 1,000 2,000 A 1,000
) 500
Al 250
= 250
01 =Y 1,000 2,000 ~1,000
OZLEAAANS LI 1,000,000& 1,000
Jl 500
Al 250
= 250
307 QI12t0ld 56,544 37,200 19,344
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oLk

M- ®=Z . Che (5 NEAY . B2 Al OH HEE Hl =2+
| 28,272
Al 14,136
= 14,136
05 QIzZteIE =z 56,544 37,200 19,344
OB =AEH| 56,544 ,000& 56,544
| 28,272
Al 14,136
= 14,136
NEHAS 230,972 248,923 A17,951
| 75,300
Al 77,835
= 77,837
AR HZHEAY 2,100 840 1,260
Al 1,050
= 1,050
307 QI2told 2,100 840 1,260
Al 1,050
= 1,050
01 S22 =4l 2,100 840 1,260
OYare A2 AR 7,000 *300 2,100
Al 1,050
= 1,050
O/=0t & A4 Ol&0L 2= HI K& ALY 66,798 79,819 A13,021
J| 33,399
Al 16,699
[ 16,700
307 QI2t01A 66,798 79,819 A13,021
| 33,399
Al 16,699
= 16,700
01 S22 =4l 66,798 79,819 213,021
O0l=0t & & AH0l&0r 2 ZHIXIS
66,798,000 66,798
J| 33,399
Al 16,699
[ 16,700
A0 (g0l AZSEALE 20,000 19,062 938
Al 10,000
= 10,000
201 LBt 16,620 18,062 A1,442
Al 8,310
= 8,310
01 AtR22lH| 16,620 18,062 AN1,442
O get=ZH| 9,400
OE2]dH2d=3 ¥ s2=HF
9,400,000& 9,400
Al 4,700
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4,700
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202 O
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500
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500

01 =LHAOYI

ORNEHASH IS &

500,000

H =

500
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250
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500

H =

2,880

1,440
1,440

1,000

1,880

30,000 963!

H =

2,880
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1,440
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1,000

1,880

H =

60,000

30,000
30,000

60,000
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H =

60,000

30,000
30,000

60,000

60,000, 000&

H =
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60,000

30,000
30,000

60,000

Il
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41,370
20,685
10,342
10,343

46,449

25,079
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41,370
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46,449
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01 A= =H
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41,370,000&

Il
Al
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41,370
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46,449
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M BAA
FH: ZOALSA(2A/22H2AR)
Gl ZUHEHAY (98
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
YR OtSAHZ2eIAY 31,685 36,768 ~5,083
Jl 15,843
Al 7,921
= 7,921
307 GI12t0ld 31,685 36,768 /5,083
Jl 15,843
Al 7,921
= 7,921
01 A2 F =4 28,485 33,319 N4,834
OE=2MX& 28,485,000& 28,485
Jl 14,243
Al 7,121
= 7,121
05 BIRIES 3,200 3,449 A249
OEZEZNEAHASE 3,200,000& 3,200
Jl 1,600
Al 800
= 800
=0t 2238 2,719 1,716 1,003
Il 2,223
Al 248
= 248
201 LEt=EH| 593 350 243
Il 475
Al 59
= 59
01 AtS2t2itl 593 350 243
oggt=EZY| 593
OEEE M= 593,000 593
Il 475
Al 59
= 59
307 2I2tol: 2,126 1,366 760
Jl 1,748
Al 189
= 189
01 =22 F=H 240 0 240
OLEFMAAOtS &2l 240,000& 240
p) 240
05 QIZtRAE = 1,886 1,366 520
OF=Fia] 1,886,000& 1,886
Jl 1,508
Al 189
= 189
AMOF HE RIIXE AL 6,300 4,269 2,031
p) 3,150
Al 1,575
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oLk

_ _ _ Muo
M- F2 SR (3) - HIRAY - B e arey e {imE=Eh
= 1,575
307 2120l & 6,300 4,269 2,031
Il 3,150
Al 1,575
= 1,575
01 SI2¥ <=l 6,300 4,269 2,031
OLlHOtHE XD &I 6,300,000& 6,300
Il 3,150
Al 1,575
= 1,575
AKX ALY 1,023,752 693,632 330,120
=2 112,756
Il 117,228
Al 178,385
= 615,383
YEEXNHAS 234,456 112,648 121,808
Pl 117,228
Al 58,615
= 58,613
101 1A 20,450 9,300 11,150
Il 10,225
Al 5,113
= 5,112
04 JIZHMIZE2XESE =+ 20,450 9,300 11,150
oty=RE X& 20,450,000& 20,450
p) 10,225
Al 5,113
s 5,112
307 2120l & 214,006 103,348 110,658
Il 107,003
Al 53,502
= 53,501
01 A2 =4 214,006 103,348 110,658
OxMA=F Alz=Hl X& 133,356,000 133,356
Il 66,678
Al 33,339
= 33,339
oeE8=d Al=tHl X& 80,650,000& 80,650
Il 40,325
Al 20,163
= 20,162
A2 Ao ES01 K& ALY 140,946 119,700 21,246
= 112,756
Al 14,095
= 14,095
307 2120l & 140,946 119,700 21,246
= 112,756
Al 14,095

_11_




M BAA
FH: ZOALSA(2A/22H2AR)
el SUXEAMY (&9 &)
_ = S =
SA-EFH - SA(SAH) - MREAY - BES Off &F K @E% BlusZ
= 14,095
05 2IIRAE S 140,946 119,700 21,246
OMZ A0 =< 0IXI& bl 140,946,000 140,946
= 112,756
Al 14,095
= 14,095
S E IS0t HAM 21,350 12,284 9,066
Al 10,675
= 10,675
307 2I2H0l™ 21,350 12,284 9,066
Al 10,675
= 10,675
01 A= =H 21,350 12,284 9,066
OSTH A 21,4002 »250 5,350
Al 2,675
= 2,675
O©JIE0tH At 40,0002 =400 16,000
Al 8,000
= 8,000
H0I= EMtEd= K2 95,000 95,000 0
Al 95,000
301 LEtEHS 95,000 95,000 0
Al 95,000
01 MEIEEE£ES 95,000 95,000 0
O3XtH0I= &4t Hels 300,000 x190& 57,000
Al 57,000
O3XtH0l= 2=FHl X2 200,000& %190 38,000
Al 38,000
SMFAHEE ¥ SN2EE XY 532,000 354,000 178,000
301 dEEHS 334,000 210,000 124,000
01 A2 X463 334,000 210,000 124,000
OELH(EI)XNES 130,000& *2,200H 286,000
OIS SRS 48,000,000 *14! 48,000
307 QI12+0I A 198,000 144,000 54,000
06 23 198,000 144,000 54,000
OMMOol& Mot SX2EE X
30,000 x550H 122 198,000
TLEHAEY 116,060 155,517 A39,457
Il 37,530
Al 39,265
= 39,265
Lol oXl EE A 75,060 52,350 22,710
Il 37,530
Al 18,765
= 18,765




2=
==}

A

ML

4 HH
ey

QA

iy

(22/222

SNBSS - MEAY - BES

22
J2

20
B
2

307 2I2tol &

pJ
Al
-

[

75,060
37,530
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1,000,000 »33!

215,000& 105

450,000& 1LH =0 &

3,000,000

H = H =
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=

H =

12,200
8,150

3,000

1,500
1,500

3,000
1,500
1,500
2,150

1,075
1,075

4,050
4,050

2,025
2,025

3,000
3,000
3,000

1,500
1,500

3,000

9,200

3,000

307 2120l &

H =

5,000

2,500
2,500

5,000

01 ¢

fu
)

bl

'R 2 H|

5,000

5,000




SA AL
Ha: POIRALBA(2A
Cell PLEAAY SREE
_ _ HE T
N EH - S2A(3H) - MRAE - BES &hoh Ol Ak O Z
oRY A 1,000,000 %53 5,000
Al 2,500
2 2,500
405 Xtoarz S| 6,800 0 6,800
Al 3,400
2 3,400
01 RHYSEHS 6,800 0 6,800
ongeRI| 3,500,00024 #1CH 3,500
Al 1,750
2 1,750
=EEN 3,300,00024 #1CH 3,300
Al 1,650
2 1,650
AA 22 A 14,000 10,000 4,000
Al 7,000
= 7,000
201 Y2 | 13,000 10,000 3,000
Al 6,500
2 6,500
01 AFR22/H| 9,250 7,000 2,250
CEIEES= 9,250
OzoIRYEA 2227
2,000 *500H *355 3,000
Al 1,500
2 1,500
OE=0l 1,000 %2, 5004 2,500
Al 1,250
2 1,250
ORX, i 2222 2,550,000 %13 2,550
Al 1,275
2 1,275
Oz 100,0008! * 1255 1,200
Al 600
2 600
03 A2 I 3,750 3,000 750
CEEICEELE 2,500 %5001 35 3,750
Al 1,875
2 1,875
301 YerE A 1,000 0 1,000
Al 500
2 500
10 BAAIH 2 1,000 0 1,000
oRYA 200,0002 *53| 1,000
Al 500
2 500
BAAEY 250,988 208,090 42,898
p 74,900




M BAA
M ZOAVEW(RA/RAAR)
el JAEAAY (&9 HM
M- ®=Z . Che (5 NEAY . B2 Al OH HEE Hl =2+
Al 96,836
i 79,252
HABAMEH 29 189,136 152,500 36,636
| 74,900
Al 43,786
= 70,450
201 Let23| 33,000 0 33,000
01 AtE222|Hl 33,000 0 33,000
(©FIPNI= 33,000
OFAMEHHEH AXNESS 20,000, 000& 20,000
Oogdi=z 13,000, 000& 13,000
307 212t01H 156,136 152,500 3,636
ol 74,900
Al 43,786
= 37,450
05 CIZtRIEZ 156, 136 152,500 3,636
O&EAEHHE 29| 149,800, 000& 149,800
ol 74,900
Al 37,450
= 37,450
(OEJNINPSEY/ Faba =y 6,336,000 6,336
Al 6,336
MIIESHANE 2 61,852 55,590 6,262
Al 53,050
= 8,802
307 12+0| & 61,852 55,590 6,262
Al 53,050
= 8,802
05 Izt = 61,852 55,590 6,262
OAsI=HAE 293 58,684 ,000& 58,684
Al 49,882
= 8,802
OBSMUA™MRMLE=E 3,168,000 3,168
Al 3,168
SAHAMY 173,824 90,292 83,532
| 67,228
Al 55,798
= 50,798
stolot XA 2HAS 4,296 4,635 A 339
J| 2,148
Al 1,074
= 1,074
307 gI2told 4,296 4,635 A 339
| 2,148
Al 1,074
= 1,074




M BAA
FH: ZOALSA(2A/22H2AR)
el ANEEHAY (98
- _ _ pSNE N
N EH - S2A(3H) - MRAE - BES &hoh @Eiﬁ =
01 A2+ =H 4,296 4,635 A 339
ostgd=E 4,296,000 14 4,296
Il 2,148
Al 1,074
= 1,074
KIS AR 24 28 28 AFAE 48,464 38,832 9,632
Il 24,232
Al 12,116
= 12,116
201 YEH2HH| 500 0 500
p) 250
Al 125
= 125
01 AtR2telH 500 0 500
OE=Z= M= 500,000& 500
Jl 250
Al 125
= 125
202 Oddl 1,000 0 1,000
Jl 500
Al 250
= 250
01 =LHAOYI 1,000 0 1,000
OXNS A2 AZ AN =Z=0HHl 1,000,000 1,000
Il 500
Al 250
= 250
307 2120l A 46,964 38,832 8,132
Il 23,482
Al 1,741
s 11,741
05 2IIRAE =S 46,964 38,832 8,132
ORXILASI FEE AL ZAIKA RS AL
46,964,000 46,964
Jl 23,482
Al 11,741
= 11,741
OHE D] A2 EICHA 3,764 3,825 AB1
Jl 3,011
Al 377
= 376
201 LEt=EH| 271 271 0
Il 217
Al 27
= 27
01 AtS2t2itl 271 271 0
oLt~ 271
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M BAA
FH: ZOALSA(2A/22H2AR)
el ANEEHAY (98
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oﬁ,‘\jg‘g BlusZ
OSHLAIHEIIUNG L MNP
200,000& *3H 600
Al 300
= 300
301 LEtE24S 3,300 3,300 0
Al 1,650
= 1,650
10 SAAHIEAS 3,300 3,300 0
OsteEEa2d AU I
5,000 «15& »43| 300
Al 150
= 150
OYRP2HLES HFAXNEY
20,0002 x10&*12] 200
Al 100
= 100
OstdA2E=R0| AHEH
10,0002 x 10E «7 & #4323 2,800
Al 1,400
= 1,400
307 2120l & 14,700 14,700 0
Al 7,350
= 7,350
01 SI2€ =l 14,700 14,700 0
OstLEAANY AdZFH 7,0008+2,100€ 14,700
Al 7,350
= 7,350
A& EHE 29 5,000 5,000 0
Al 5,000
201 Let2E] 2,500 2,000 500
Al 2,500
01 AtS2t2iHl 2,500 2,000 500
O] 2,500
O22= & E22K MA  1,000&+*2,500% 2,500
Al 2,500
202 ol 500 0 500
Al 500
01 =Y 500 0 500
OXINAIH EIIOE &L NP
250,000& »23] 500
Al 500
307 2120l & 2,000 3,000 A 1,000
Al 2,000
01 A= =4 2,000 3,000 A 1,000
ocdzgs7Y 1,000,000 1,000
Al 1,000




M BAA
M ZUALSH(2A/E22AH
el ANEEHAY A
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES &hoh @Eiﬁ =
OXIOH&EH & XI=HIXS 100,000& 10 1,000
Al 1,000
XIOH D[S &AL 9,116 9,116
Il 4,558
Al 2,279
= 2,279
307 2120l & 9,116 9,116
Jl 4,558
Al 2,279
= 2,279
05 QIZtRE = 9,116 9,116
OXIOHZ=D1 & X 9,116,000& 9,116
Jl 4,558
Al 2,279
s 2,279
XIONX Z2eldl K& A 61,060 61,060
p) 30,530
Al 15,265
i 15,265
101 el 4] 15,030 15,030
Jl 7,515
Al 3,757
= 3,758
04 JIZHMIZ2XNSE =+ 15,030 15,030
OXIOH ARl 2tel At 1,670,000 » 12 +9Z 15,030
Il 7,515
Al 3,757
= 3,758
307 2iz2tol A 46,030 46,030
Il 23,015
Al 11,508
= 11,507
01 S84+ 2l 46,030 46,030
OXIOf <FMHl & &ZHl X2 46,030,000 46,030
Il 23,015
Al 11,508
5 11,507
SIS EZ ALY 4,124 4,124
Il 2,749
Al 687
= 688
201 L2249y 4,124 4,124
Jl 2,749
Al 687
= 688
01 AtR2telH 3,180 3,180
oex= 3,180




SN

=]
£
By 2

&2 XNHEAAY (ctel: &
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2

Ot EHAS X 530,000 1CH+6& 3,180
| 2,120
Al 530
i 530

02 223l 944 0 944
(OFEFals gl 944
Ot EHAIG X E 7=l 944,000& 944
| 629
Al 157
= 158

HESHAS 280,635 262,014 18,621
| 114,317
Al 83,157
= 83, 161

20 2el At 7,084 8,648 A 1,564
p 3,542
Al 1,771
= 1,771

307 QI2t0IA 7,084 7,148 A64
| 3,542
Al 1,771
= 1,771

01 g€ =l 7,084 7,148 A64
oYEk 4Z L A2F FL 70,840 +100F 7,084
| 3,542
Al 1,771
i 1,771

KNS A2 S & THE ALY 42,082 42,088 A6
| 21,041
Al 10,520
i 10,521

101 el 4] 20,999 19,834 1,165
J| 10,499
Al 5,250
= 5,250

04 JI2tHIZ2E2NHEE S 20,999 19,834 1,165
OXNZ A2 S MEAY 20,999
olJl==s 42,3008 »1H +253 10,702
Il 5,350
Al 2,676
= 2,676
Osg=d 42,3003 x1Hx112& 4,738
| 2,368
Al 1,185
= 1,185
Ounst| 5,000 «1H 2532 1,265
Il 633
Al 316
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M BAA
FH: ZOALSA(2A/22H2AR)
el GEEAMY (98
SA-EFH - SA(SAH) - MREAY - BES Off &F K gggfg BlusZ
= 316
o=l 5,000 128 %253 1,265
Jl 633
Al 316
= 316
OJs=¥ 80,000& x1H +128 960
Il 480
Al 240
= 240
O &E =0yl 400,000 1 23] 800
) 400
Al 200
= 200
O&l &4 42,3003 x1H+302 1,269
Il 635
Al 317
= 317
201 LEH2HH| 14,943 14,688 255
Il 7,472
Al 3,735
= 3,736
01 AtR22iHl 11,583 9,288 2,295
(C)=RIE = 5,363
OMEXNSA2IADETL  100,0008 *35 300
p) 150
Al 75
= 75
Oz 1d#EEZ= M 2,000& *1,000% 2,000
Il 1,000
Al 500
= 500
OZMHLENESAZS 500,000& 500
Jl 250
Al 125
= 125
OZMHMYHAZDES 600,000& »23| 1,200
Il 600
Al 300
= 300
ONM#EZHADF 1,363,000& 1,363
Jl 682
Al 340
= 341
o2d+% 2,220
OMEZ208 2ZAE 100,000& 112 1,100
Jl 550
Al 275
= 275
OZHMYRE A+ 70,000 * 162 1,120
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M BAA
FH: ZOALSA(2A/22H2AR)
HR gE2EAMY (98
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F K ‘Oﬁ,‘\jg‘g BlusZ
Jl 560
Al 280
= 280
oYx= 4,000
O et 400,000 «1CH x10& 4,000
p) 2,000
Al 1,000
= 1,000
02 3323l 1,360 1,700 A 340
OXgH ] 1,360
OMegEieEsFol 136,000& 102 1,360
) 680
Al 340
= 340
03 A2l 2,000 3,700 A1,700
OZFOH I Il 1 & A 200,000& *23 400
Jl 200
Al 100
= 100
OAHSESHA 800,000& »23! 1,600
Il 800
Al 400
= 400
202 (4Hl 540 546 VaNG
Il 270
Al 135
= 135
01 WAL 540 546 AB
OMEAZ2H NsFA 270,000& =23 540
Il 270
Al 135
= 135
301 Let2a= 3,000 2,020 980
Jl 1,500
Al 750
s 750
10 SAHAHIEA S 3,000 2,020 980
OX23slo FAX 24 20,000 * 159 300
p) 150
Al 75
= 75
OMEBZZ A SAMAL AHIEY
10,000& x20 * 103l 2,000
) 1,000
Al 500
= 500
OABIHS A AHI2Y
10,000 x35F #23] 700
Jl 350

_22_




SN

B AT (222
el AL (ctel: &
S CR(BH) - MRAY - BES Aro CEE Hlm= 2
Oil &k o8
Al 175
i 175
QI2t01 ™ 2,600 4,000 A 1,400
J| 1,300
Al 650
i 650
S22 FZHl 2,600 4,000 A 1,400
OMEAMNIL2UHAX AFFLY 400,000 *23] 800
Il 400
Al 200
= 200
OMEMILZHAX = HIXIA
300,000& 6% 1,800
Il 900
Al 450
= 450
HEEHAS 179,469 186,278 A6,809
| 89,734
Al 44,866
= 44,869
jellal=] 171,463 178,514 AT,051
| 85,731
Al 42,865
i 42,867
M2 2RSS 171,463 178,514 AT,051
OL=ZEBHAY 171,463
oJl== 42,3003 x8H 253 85,616
J| 42,808
Al 21,404
i 21,404
Osg=sg 42,3003 x8H~112 37,901
| 18,950
Al 9,475
= 9,476
Oun sl 5,000 *8H »253 10,120
Il 5,060
Al 2,530
= 2,530
OF=1=i:] 5,000 x8Y 253 10,120
| 5,060
Al 2,530
= 2,530
OJE=g 8,160
. BHX 40,0003 x8H +12& 3,840
| 1,920
Al 960
= 960
. = IS 20,0003+ 18E «12& 4,320
J| 2,160
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M BAA
FH: ZOALSA(2A/22H2AR)
el GEEAMY (98
SA-EFH - SA(SAH) - MREAY - BES Off &F K gggfg BlusZ
Al 1,080
= 1,080
OgEFotl 400,000 8 »23] 6,400
Il 3,200
Al 1,600
= 1,600
O& A=< 42,3002 x8H «30 10,152
Jl 5,076
Al 2,538
= 2,538
Og=2EH W= oyl 38,0202 x8& »83] 2,434
Il 1,217
Al 608
= 609
Oll=Hl 35,000 x8& »23| 560
Jl 280
Al 140
= 140
201 et=g&l 6,806 6,034 772
Jl 3,403
Al 1,701
= 1,702
01 AtR2teld] 6,806 6,034 772
O®IE =l 6,806
OY22HIHA DI (FMTP) 1,060,000 x2H 2,120
P 1,060
Al 530
= 530
OYEEA dgodoan=s
416,000& x 11 4,576
Il 2,288
Al 1,144
= 1,144
OgEEH e NS 110,000& «1H 110
Jl 55
Al 27
= 28
301 Let2d= 1,200 1,200 0
Jl 600
Al 300
= 300
10 HAIAHIEA S 1,200 1,200 0
OLEZEANISAMI AHIEH
10,0002 30 *43] 1,200
Jl 600
Al 300
= 300
HEEBAAS 52,000 25,000 27,000
Al 26,000
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SN 2
HH: 20l
%2

oLk

SN

[
2

20
B
2

M

26,000

201 LEt=

H =

39,600

19,800
19,800

20,873

18,727

01 At

02

1,000 +2&+1,000%

450,000 *5CH =12

10,600, 000&

H =

H =

H =

29,000
2,000
1,000
1,000

27,000

27,000

13,500
13,500

10,600
10,600
10,600

5,300
5,300

14,760

6,113

14,240

4,487

202 (4Hl

H =

2,000

1,000
1,000

2,000

01

H 2

=8

H
ry
=
12
Bl
10
EJ
Ho

250,000& »23| x4

H =

2,000
2,000

1,000
1,000

2,000

307 212+0]

H =

10,400

5,200
5,200

6,273

01 224

10,400,000&

H =

10,400

10,400

5,200
5,200

4,127

6,273

Jl
Al
-

[

620,738
310,369
155,184
155,185

633,956

213,218

Il
Al

[

6,000
3,000
1,500
1,500

6,000

Il
Al
|

[

4,200
2,100
1,050
1,050

3,680

520

©
e
e

O
Ul

He
Ja
P
4
e

3,000,000&

4,200
3,500
3,000

3,680

520
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SA EAL
B D012
el 2
= A SHRI(BIH) - HRAY - HA S sk oy e
| 1,500
Al 750
i 750
EE2ARILAIELY 500,000 500
p) 250
Al 125
= 125
2d=g 700
ogtgdstate|us & 100, 000& 73] 700
| 350
Al 175
= 175
202 400 400
Il 200
Al 100
= 100
01 400 400
SIS 400,000 400
Il 200
Al 100
= 100
301 200 400
Il 100
Al 50
= 50
10 SALAHIE & 200 400
ottd & sta =
10,000& »20H 200
| 100
Al 50
= 50
307 1,200 1,520
| 600
Al 300
s 300
01 1,200 1,520
6,000& x100Z 600
p) 300
Al 150
= 150
600, 000& 600
| 300
Al 150
i 150
=t 117,004 114,428
| 58,502
Al 29,251
i 29,251
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M BAA
FH: ZOALSA(2A/22H2AR)
Eel: ZelAL2eIAY (98
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES &hoh ‘Oﬁ,‘\jg‘g BlusZ
201 249y 3,040 3,040 0
Il 1,520
Al 760
= 760
01 AtR2telH 2,840 2,840 0
oget=ZH| 2,840
Os: 28 7¥¢ 2,000&*1,0005 2,000
Jl 1,000
Al 500
= 500
OE: =9 M 60,0003 * 144 840
Il 420
Al 210
= 210
02 323l 200 200 0
033223 ¥ HAl 200
ORER= 2503 *400F #22 200
Jl 100
Al 50
= 50
307 2l2told 113,964 111,388 2,576
Jl 56,982
Al 28,491
= 28,491
05 BIARES 113,964 111,388 2,576
O0=20tg =01 113,964,000 113,964
) 56,982
Al 28,491
= 28,491
2 2= dl KIEA 238,910 184,618 54,292
) 119,455
Al 59,727
= 59,728
307 GI12t0ld 238,910 184,618 54,292
Il 119,455
Al 59,727
= 59,728
01 SI2€ <2l 238,910 184,618 54,292
ogxzdl X& 238,910,000& 238,910
Il 119,455
Al 59,727
= 59,728
SIHHX A SIS HIXIE A 256,000 326,086 A70,086
Il 128,000
Al 64,000
= 64,000
307 2I2told 256,000 326,086 A70,086
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SH: AL
Hal: POIAYSI(2A/2AAZ)
Sl BOIAA DALY e
_ _ _ N E
N33 S2(3H) - MEAMY - BES Aol ‘@Eiﬁ Z
5] 128,000
Al 64,000
2 64,000
05 DIRtSIEr2 256,000 326,086 A70,086
OB|ALXIEEN BHIXA 256,000,002 256,000
| 128,000
Al 64,000
2 64,000
DINNE ANEDNE2 Y 2,824 2,824 0
| 1,412
Al 706
2 706
201 Yer2g| 2,824 2,824 0
| 1,412
Al 706
2 706
01 At 2l 2,824 2,824 0
CEEImET 2,824
OIS R & X A2 9IS 1 S (FMTP)
1,412,008 %2 2,824
| 1,412
Al 706
2 706
04 2 22l ALY 747,719 699,885 47,834
= 480
| 157,281
Al 115,275
2 474,683
244 Y ESAL 126,000 120,480 5,520
| 63,000
Al 31,500
2 31,500
307 QI2H0IH 126,000 120,480 5,520
| 63,000
Al 31,500
2 31,500
01 9RYRRHY| 126,000 120,480 5,520
O2)tW4 KLFEAEL 12,600,002 103 126,000
| 63,000
Al 31,500
2 31,500
gol A ALY 185,768 178,900 6,868
101 o124l 19,618 19,378 240
04 JARZRIIS S 19,618 19,378 240
ogeLs 19,618
oJga 42,3002 *284 + 123 10,406
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M BAA
B DOAASA(PA/2ANR)
El dEEM Y2l ALY (H:H2)
A BB O(B) - NEAY - BAS Of o e Hl R =2
Osg=sg 42,3003 x2H x50 4,992
Oun sl 5,0003 x2Y x123 1,230
Oz gl 5,0003 x28 x123 1,230
Otz 80,000 »2H «6& 960
OgE SOty 400,000 2 x13] 800
201 et 7,820 8,380 A560
01 AFR 22| 1,020 580 440
Ol =l 520
o&gs 80,0003 x4H 320
Ootd st 50,000& x4H 200
ogogEzsAREr7Y 500, 000& 500
02 2223l 6,800 7,800 A 1,000
OA&EEHI= Xl 6,800
Og9AL=FH| 6,800
. SEERI(MES,EUE)
100,000& *21CH*12] 2,100
. HAYI(XEE SUE)
100, 0003 *34CH *13] 3,400
. IS 100,000& *13CH*12] 1,300
206 M=l 150,330 144,842 5,488
01 MH=z=Hl 150,330 144,842 5,488
oY A=sE UE 102,500
o= 25,000& 500 £ 12,500
Oo=z2=8 25,000& 3,000 £ 75,000
OatZ A 10,000& *300 £ 3,000
O"s +HA 60,0002 »200kg 12,000
oggLrsE RF 47,830
O&R 34,790
. BAa 1,420& 2,500 £ 3,550
= 1,420 x22,000 £ 31,240
O=lg= 13,040
. BEAA 1,630& 1,000 £ 1,630
= 1,630& 7,000 £ 11,410
405 Kot S| 8,000 6,300 1,700
01 XL SEZFHSHI 8,000 6,300 1,700
ogIEH 7Y 8,000
OIS (HSEIXIOI) 800, 000& =10CH 8,000
ZQ MW HEUAAY 960 1,040 A80
= 480
Al 480
301 EtBA = 960 1,040 A80
= 480
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M BAA
FH: ZOALSA(2A/22H2AR)
HR dEE gAY (98
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oﬁ,‘\jg‘g BlusZ
Al 480
12 JIEtE o= 960 1,040 A80
o&gd H=2 A2 2 960,000 960
= 480
Al 480
BEZ2E +=XZFHY 7,600 7,680 A80
Jl 3,800
Al 1,900
= 1,900
307 GI12+0l & 7,600 7,680 N80
Il 3,800
Al 1,900
= 1,900
05 2IIRAE =S 7,600 7,680 N80
OBY +=XZZF OlZA 7,600, 000& 7,600
Il 3,800
Al 1,900
= 1,900
HeES SSdH=9Y 20,290 19,826 464
P 10,145
Al 5,073
= 5,072
101 1A H] 20,290 19,826 464
Jl 10,145
Al 5,073
= 5,072
04 JIZtHZ2HSE= 20,290 19,826 464
oHLEE STHH 24 20,290,000& 20,290
Jl 10,145
Al 5,073
= 5,072
ABAZEZATHEZ2A 900 900 0
p) 450
Al 450
301 Let2a= 900 900 0
Il 450
Al 450
12 JIEtE o= 900 900 0
ORERANLLLAIN2EZLE 900,000& 900
Il 450
Al 450
olol =& Xt X =4 8,516 6,600 1,916
) 4,258
Al 2,129
= 2,129
307 QI2t0ld 8,516 6,600 1,916
Il 4,258
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M BAA
FH: ZOALSA(2A/22H2AR)
HR dEE gAY (98
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
Al 2,129
= 2,129
01 A= =H 8,516 6,600 1,916
Oulol=& Xkt &=l 8,400,000 8,400
Jl 4,200
Al 2,100
= 2,100
oouloIzZge s=2c 116,000& 116
7l 58
Al 29
= 29
g8 2 0lolx MEAISE 0K 6,056 6,060 A4
Il 3,028
Al 1,514
= 1,514
307 2120l & 6,056 6,060 Yay:s
Jl 3,028
Al 1,514
= 1,514
01 A= =H 6,056 6,060 vay:s
o888 M Al 640,000 640
Jl 320
Al 160
= 160
OO0l &S Al 5,416,000& 5,416
P 2,708
Al 1,354
= 1,354
godole X 5,977 5,977 0
Al 5,977
101 1A 5,977 5,977 0
Al 5,977
04 JIZAHZ 2SS E= 5,977 5,977 0
02JI%s A 5,977,000& 5,977
Al 5,977
AIZRAUX P2 HUEE A 28,152 28, 152 0
Al 28,152
307 2120l & 28,152 28,152 0
Al 28,152
01 A2 =H 28,152 28,152 0
O E=RAUL LSUHLES 28,152,000& 28,152
Al 28,152
o= 2 Xt adl 243 1,800 720 1,080
Al 1,800
301 etEd= 1,800 720 1,080
Al 1,800
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M BAA
FH: ZOALSA(2A/22H2AR)
HR dEE gAY (98
_ = FSRE =
SA-EFH - SA(SAH) - MREAY - BES Off &F K @ﬁOH BlusZ
10 AAHIE &= 1,800 720 1,080
OlolE &2l 2AH W= 1,800,000& 1,800
Al 1,800
HEE Ol A 210,500 185,550 24,950
101 1A 8,000 0 8,000
04 JIZHMIZ2XSE =+ 8,000 0 8,000
OQERANHLZS(1)
1,600,000 5 +1& 8,000
201 et 6,000 8,680 N2,680
01 At 2t2ibl 6,000 8,680 A2,680
(OF Rl Ear=ul 6,000
OZHEE=MH 1,000& =1, 00004 1,000
OdgdugsE2=MNA
1,000& *1,0000H *35 3,000
Oulgdsaet MM 1,0002 +1,0000H 1,000
O&EHIIBAUSEBSHE
1,000 *1,0000H 1,000
307 2I2told 196,500 176,870 19,630
01 S84+ =l 196,500 176,870 19,630
ORz QESRAUL oY FE
7,000&+10,000H 70,000
OEILI NEES 12,6003 *1,000& 12,600
=2 HEBS 104,000
OBE 2tg 5,000&*1,900H 9,500
OelE=2dkt 7,000 %13,500& 94,500
OUHLEE 228 3,000,000& 3,000
OHZLEE= 0l&fEtZS XA 500,000 =14 500
ozsazd 5,500
OF=ZH A A At 50,000& =100 5,000
OZHAEF 500,000 500
OEHINEANEAZE 300, 000& %33 900
HORHNEESEHUAISY 141,200 138,000 3,200
Il 70,600
Al 35,300
= 35,300
307 2I2tol™ 141,200 138,000 3,200
Jl 70,600
Al 35,300
= 35,300
01 A= =4 141,200 138,000 3,200
o2zJ12 HLESH| 141,200,000 141,200
Jl 70,600
Al 35,300
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M BAA
Za: ZOAYBN(EA/B0T)
Sel: Mg A (oo dd
_ _ PSS
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ol AF o8 Blusz
| = 35,300
EP/E LN 4,000 0 4,000
pJ 2,000
Al 1,000
2 1,000
307 QI2+0IH 4,000 0 4,000
pJ 2,000
Al 1,000
2 1,000
01 AL 72| 4,000 0 4,000
OZHI =X A 4,000,000 4,000
pJ 2,000
Al 1,000
2 1,000
SIEAANEHF(BA/2T) 2,425,790 2,676,462 250,672
= 412,840
Al 207,720
2 1,805,230
STEAANL M 1,140,495 1,435,377 1294882
2 404,240
Al 202,120
= 534,135
4SPATB A HF 435,426 0 435,426
2 91,280
Al 45,640
2 298,506
401 AlEHIL 2T 429,476 0 429,476
=2 91,280
Al 45,640
2 292,556
01 Al&H 421,156 0 421,156
OUSEATB A OITUS 421,156
O&a A& A 21,156,000 21,156
O3 At 400,000,000 400,000
2 91,280
Al 45,640
2 263,080
02 22l 5,440 0 5,440
OHSEATB A OIHAS
400,000,000 *1.36% 5,440
03 Al& =04 2,880 0 2,880
OHSEATB A OIHAS 2,880,000 2,880
405 KharF S| 5,950 0 5,950
01 XaLSEFSH 5,950 0 5,950
ORIAA 2 AREHE 5,950
O 200,000&* 174 200
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M BAA
M ZSEAHALEES(BH/BAHAR)
Crel: ZZEANL A (ero): &
SN -ZH A (ZH) - MFAY - BES Aol a4 T Hlw &2
- cTo=m IO T ° . [= Bl e =5 0:”/‘l|_% Lsa
O29l Xt 150, 0002 *1JH 150
OQAAUIIE2 Xt 400,000& x4 1,600
ORI STEHNE 1,000,000& 1,000
o 1,500,000& * 14 1,500
OO0AIM I 1,500,000& * 14 1,500
SSEARL M= 705,069 0 705,069
= 312,960
Al 156,480
i 235,629
401 A &HIL 2048 695,069 0 695,069
= 312,960
Al 156,480
= 225,629
01 Al&t| 681,965 0 681,965
OaSEHXN A OlHASF 681,965
O&AAIE A HI 31,965,000& 31,965
O3 At 650,000, 000& 650,000
= 312,960
Al 156,480
= 180,560
02 Zeldl 9,009 0 9,009
Ooa=sE2HXN AL OlMA= 9,009,000& 9,009
03 Al =20HY| 4,095 0 4,095
O&sEHX A OlMAISR 650,000,000 +0.63% 4,095
405 KHAHFSHI 10,000 0 10,000
01 &L 2EFHSHI 10,000 0 10,000
ORI L ARZHIS 10,000
OMa 200,000 =64 1,200
O2Ll Xt 150, 0002 *6IH 900
OCIAAUHIIZ X 400,000& x6 & 2,400
ORAMESHHAE 1,000,000& 1,000
o 1,500,000& * 14 1,500
O0AIHH| ! 3,000,000& 3,000
22 #FXNF 2 Az 2 1,285,295 1,241,085 44,210
= 8,600
Al 5,600
i 1,271,095
tSAHLJAEFUS 2,000 2,000 0
Al 1,300
i 700
301 LEEAZ 2,000 2,000 0
Al 1,300
= 700
12 JIEt243 2,000 2,000 0
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M BAA
M DZEANLSE(2/2AR)
el 22 dINA & Az 2 (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
oul=t| 7,110
OSIM= (BB TH)
35,000% x93H »23| 6,510
OIFE= 150, 000& x2H »23] 600
ogdx= 9,600
OSAMII(BHA2, SEX A1, 8AI1)
200,000 »4CH+12& 9,600
02 =234l 201,712 61,453 140,259
0z32= % HAl 144,992
OSANEEs RERS 600,000& «12& 7,200
OFske 3T 1,000,000& 123 12,000
OzldAEZ 2,000,000& 2,000
O&IIR= 48,000
. BaA 2,200,000& x12& 26,400
. SESEEANL 1,200,000& x12& 14,400
. BAX A 100, 0002 *6IH A+ 123 7,200
(@)D ESS == 40,800
. EdAL 2,200,000& x12& 26,400
. SRESEEANL 1,200,000& x12& 14,400
OS24 ZHA 8,640
. 2teltl 100, 0002 x40 A+ 123 4,800
. EAIIARS 80,0003 x4 A +12& 3,840
OB, BAXL FASHRE2
4,000,000& 4,000
OFAM goAas 120,000& 63l 720
OB2AA BAXN A 4ot
500,000& «12& 6,000
Ot gotEs2 (DR 50,000& 123 600
OXts XAl 2,072
. S&(40010l3t) 65,0002 *1CH 65
. 58(2,000ccxE=1Dt) 572,000& +2CH 1,144
. 3t=2(1,000kg0ldt) 28,5003 »2H 57
. S2(1,500cc0lat) 273,000 +2CH 546
. 5&(1,000ccOlt) 130, 000& 2CH 260
Ok =P Fala=g= 1,000
. BAa 200,000& »23| 400
. BEAXA 25,0003 »23] *6 4 A 300
. NHSXE 30,000& »5CH*23] 300
OXNsHEEZ 2,600
. SESE 400,000 «1CH 400
., HEsE 250,000 *3CH 750
. 2ESE 700, 0003 *1CH 700
. AESE 250, 0003 +3CH 750
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M BAA
M S3EHANLES(EH/22H22)
ool 22 dIAE & dZz 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
O&J| HEH 300,000 «12& 3,600
OsdJl &8 Z 150,000& »12& 1,800
OoZgd mHJl2 =HE 3,960
. BAA 150,000 128 1,800
o BAXA 30,0002 6 A+ 123 2,160
OA&EEHI= Xl 20,800
O4g, Sa, dee Ald 4,000,000& 4,000
OF &HZHI(UPSEHE 2l Al ) 5,000,000& 5,000
OZHOIX #XE=+ 150,000& »12& 1,800
OEd4 M= FHl =2 10,000,000 10,000
OXt&t & et 35,920
OXgRrFH 28,000,000& 28,000
OXtEEHIR X 80,000 *8LH*122] 7,680
OXNSXHEA =2 30,000 *8CH 240
202 Oddl 12,000 10,200 1,800
01 =LHOYI 12,000 10,200 1,800
o220 9,000,000& 9,000
O==E22 220l 3,000,000& 3,000
203 LR =& 6,600 5,600 1,000
03 A=A HSZ=LAH| 6,600 5,600 1,000
OEHYLR=L 6,600,000& 6,600
206 M2l 450 450 0
01 M=Hl 450 450 0
OFAMZe| &S 450
O32W 2,000& 10074 200
O20W 5,000& «50H 250
207 o1 oH L] 10,000 0 10,000
02 M AR 10,000 0 10,000
O2AASHOIXIHH 10,000, 0003 14 10,000
301 LetEd = 1,100 1,520 A420
10 HALAHIE S = 1,100 1,400 A300
OFLEAALHAL & 23 N2
5,000& 60 300
OY=EAUF & 25832 FHAAN2Y
10,0003 »20H 43| 800
307 gelztold 118,600 120,400 A 1,800
01 A2 =H 94,000 89,500 4,500
oxnd=zs =29 1,500
Ocel=atel 50,0002 *10S 500
OXWESARE(RAAIE) 1,000,000 1,000
ozt =A 24 25,000
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M BAA
HH: ZZEAANEES(BH/22AH98)
el 22 dINA & Az 2 (el &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
OUSZAANLBLDITASE
70,000& *23] 140
OALHdEIEEE2RI 1,000,000& »43] 4,000
307 QI2t0I A 48,000 50,000 22,000
01 =¥ =H| 48,000 50,000 22,000
O=dHEXLTH L 60,0003 800 48,000
401 Al&HI YL =R OHYI 22,500 48,000 225,500
01 Al&H| 22,500 48,000 225,500
ORSEEHNAMEMELX 2,000, 000& 104 20,000
ORSEEHAMEE=ZUHE A
500, 000& »54! 2,500
SRESEEHNL 2ENA 314,596 402,450 A87,854
2 8,600
Al 4,300
i 301,696
101 el 4] 82,896 0 82,896
04 JIZHMIZ2XEE =+ 82,896 0 82,896
OsSeEHNA2HE 82,896
OJl2s 42,3003 x5H »212L 44,838
Osg=¥ 42,3003 x5FH x92 19,458
o=l 5,000 x5H »212& 5,300
Ounst| 5,000& «5H 2122 5,300
OJE=g 80,000 x5 x10& 4,000
OgZ St 400, 000& x5 #23] 4,000
405 AHoHESHI 231,700 362,450 130,750
2 8,600
Al 4,300
= 218,800
01 HARESFSH 231,700 362,450 130,750
OZ A EHI 132,000
OdstetE4A D] 90,000,000 = 1CH 90,000
OEAHEAD| 24,000,000 »1CH 24,000
OANLEsSHED 12,000,000 *1CH 12,000
OZ A Z AN 6,000,000 = 1CH 6,000
(OF=FP == 13,000
OtE & IR =] 11,000,000 *1CH 11,000
OX=SHE 500, 000& 44 2,000
oN=EsaHA 59,800
OclZHEMOI2 2,000, 0002 *2CH 4,000
Ogtdmal 5,000, 000& *2CH 10,000
OdsH*el 1,600,000& *1set 1,600
O EEtlZ 5,000, 000& = 1CH 5,000
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M BAA
M ZSEAHALEES(BH/BAHAR)
ool BH #EXE L Az 2el ?EA
SN EY O (BH) - MRAY - BLS Aol e =2
OMdz=ZEEHI 16,000, 000& *1set 16,000
O0lsAMEZE=E &I 5,000,000& *1set 5,000
OANMEIEZ=R 3,500,000 = 1CH 3,500
OAolI=2z22H 4,000,0002 = 1CH 4,000
OZEIHX] 800, 0002 *1CH 800
OB 800,000 = 1CH 800
OHEERIAE 800,000& = 1CH 800
Ode|AAHIOIA 3,000,000 *1CH 3,000
OAEH 2,000, 0002 *2CH 4,000
QY EDIAHK] 400,000 *2CH 800
O& XS A 500, 0002 *1CH 500
OHILREZNE 4,000,000 *1CH 4,000
OLES=S 1,500,000 = 1CH 1,500
OCI X E7tnet 500,000 = 1CH 500
ORR=SaZ U 1,000,000 *1CH 1,000
O2LA=sESEHI(XNANZA)
3,000,000 1CH 3,000
OXtsEHA S 4,000,000 *=1CH 4,000
OBHALEXNH(AE) 12,900,000& *1CH 12,900
= 8,600
Al 4,300
HY2IGUI(B2AL)(IIEHIIE 3,892,552 3,877,203 15,349
| 21,373
Al 10,687
= 3,860,492
S TICEPS 3,624,072 3,476,087 147,985
J| 21,373
Al 10,687
= 3,592,012
ol 2gH| 3,624,072 3,476,087 147,985
| 21,373
Al 10,687
= 3,592,012
101 Q14| 3,467,992 3,317,787 150,205
| 21,373
Al 10,687
i 3,435,932
01 2= 3,025,694 2,944,318 81,376
oJl== 1,645,137
O4=2 (¢ E) 64,165,000 =1 64,165
053 (305 8) 2,961,300 18 »12& 35,536
o632 (255 8) 2,457,200& x14H «12& 412,810
ora20ss) 2,065,000 *37H 123 916,860
08z3(1088) 1,438,200 x7H 123 120,809
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M BAA
Mm: WE2 A (224)OIEHIIE)
Chel: olARIH|(BHA) (9 E2
A BB O(B) - NEAY - BAS sy e RS2
092 (62 2) 1,085,200 »4H +12& 52,090
OJl=8=(1888) 1,786, 1003 x2F x 123 42,867
o&d=2=+¢ 1,580,972,000& *0.9%1/12 118,573
o=g 563,465
OAZte22ag  8,3122«65H #45A| 2++ 123 291,752
OEg 48,155
. BHS Xt 40,0003 x66%H +0. 78+ 123 24,711
. =815 20,0003 x66% x 1,48+ 123 23,444
OXHsHIEZ+Y 28,547
. 1S58 463,990 & 66 H +0. 2x4 3] 24,499
. =81 51,1003 66 +0. 3%43| 4,048
O5.828=4¢ 70,0002 30 12 25,200
(OFSEmE =) Fi = 58,200
. 2580l & 130,000 x5F «12& 7,800
. 208 0/&~25E012F  110,000& x8H «12& 10,560
. 16301 &~204012F  80,000& *30H x12& 28,800
. 10201 &~154 0|2t 60,0003 x7H «12& 5,040
. SEO0I&~10= 0] Bt 50,0002 10H 12 6,000
ORIgz2f+g 38, 160
. B 50,0003 x54H = 12& 32,400
. 28 40,000 x12Z x12& 5,760
SPLEe 9,360
. 455 50,0003 x1H~12& 600
. 675 30,0002 x18H «12& 6,480
. 892 20,0003 x5F +12& 1,200
. JE=HRY Jteta 30,0003 *x3E 123 1,080
O2MdgR=< 40,0003 x2F x12& 960
ooggesg 30,0003 3«12 1,080
ONiHE R+ 30,000& 1H«12& 360
Oozgesy 26,040
o A 70,0003 x18+12& 840
. 2t A 50,0003 x27H = 12& 16,200
. AZ I A 50,0003 15« 12& 9,000
OURBRIA=Y 35,651
., b2t 123,650 x3H « 12 4,452
. 6= 109, 1302 *21F 123 27,501
A= 77,0403 x4« 12& 3,698
(OFSE.F=Eaja] 130,000 «66F » 123 102,960
(©IME=JEN ] 100,320
Ob5= 140,000& x1H «12& 1,680
o673 130,000 *54H x 123 84,240
0892 120,000& *10Z x 123 14,400
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SA: BAA
M Y2 BHI(2A2)OIEHIIE
el E2gd(22a4) (&2 dd)
SA-ZH - S2A(3AH) - MEAME - HES Off &+ o4 gggﬁ Blus
OHEFItHI 1,580,972,000& *1/12%120% 158,098
O©JHAXI 28I 1,580,972,000% *16.7% 264,023
O 2 attl
1,645,137,0002 x1/12%1/30%20 & x80% 73,118
02 JIEtA 2= 351,128 331,605 19,523
o= 74,863
OdUAAA(O1Z) 43,189,000 x1% 43,189
Od A=A (eta) 31,674,000 x1& 31,674
OAlIZe 22+ 7,670
OXYAAR(OI2)
8,500 x 1 *45A| 2tx 123 4,590
OXgAH (et2)
5,702« 18 =45 2t + 12 3,080
oflg=Z*f=+g 16,080
ozs 50,0003 x26F x12& 15,600
Os& 40,0003 =1 =122 480
OE=E 2,400
O E\; 40,0003 «2H x12& 960
OZ - HI& 20,0002 x6H x 122 1,440
OXNASHIE L+ 3,367
Olsstul 420,790 x2& *43] 3,367
oz R+d 1,289,000 x1E * 122 15,468
O HSAHI 130,000 x2E 122 3,120
o syl 50,000 «2EH x12& 1,200
OXZEXHI 6,480
oA (Ot2) 400,000 x1&*12& 4,800
Od A=A (eta) 140,000 x1E =122 1,680
OS2 &l 2,080
OXYAAA(Or=)
3,189,000 »1/12%1/30%x10& 1,200
OxgAH (et2)
31,674,0002 x1/12%1/30%10& 880
OssE2d dzgSs 700,000 26 x123 218,400
03 RIAA22HE S 91,170 41,864 49,306
OgAH M2 E 48,423
oJ=3 42,3002 1% #2532 10,702
odu= 10,786,500 »1& x4/12 3,596
OARIZRg 5,558 *1.5%25A12k+12E 2,502
Osgd=d 44,8243 x1H %1102 4,931
OJHAE 28I 10,786,500 »1& «10% 1,079
Oun sl 5,000 »1E 255 1,275
O=gH 5,000 1 +255L 1,275
OJtE=g 960
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SN
X XH .
S Tt

el

HT

ro 02 Hr
JY 03 1y
Ho Ao b

02 02
SN0

—~ T

AL)(O1EH/IIEH

al
&)

Ol (BIH) - NRAY - BAS

2
J2

bl < Xt 40,000& x1H +128

S HlS 20,000 x22 122
£t 400,000% 12 %23l
Har2 77,0002 %12 %122
282 582,250,0002 %35/1,000
%2 BN
2 42,3009 x22 %253
g 42,3009 +2 Y 1122
| 5,000% x22 52532
| 5, 00021 22 x25321
g
2t 40,0002 %22 + 122
= Hi% 20,0009 x4 128
=S/ 400,000 *224 x23]
g 42,3001 %23 +302
SHAANLDKOH 38,0202 2283l
Bl 35,0009 %22 +23]

P
Al
e

[

Jl
Al
-

[

p)
Al
fum X

[

Jl
Al
-

[

Jl
Al
-

[

Il
Al
X

[

Jl
Al
-

[

Il
Al
|

[

Il
Al
-

[

Il
Al
e}

[

480
480
800
924
20,379
42,747

21,404
10,702
5,351
5,351
9,476
4,738
2,369
2,369
2,530
1,265
633
632
2,530
1,265
633
632
1,920
960
480
240
240
960
480
240
240
1,600
800
400
400
2,538
1,269
634
635
609
304
152
153
140
70

35

35

12,500

2
R
J2H




M BAA
FH: HH2IZH(2AL)(OIEHIIE)
Cel: ERHHI(EAHL) (el &
_ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F K ‘Oﬁ,‘\jg‘g BlusZ
01 JI22SYL=AH 3,300 3,000 300
oaxd 3,300,000& 3,300
02 FHEItatd 2 F&H| 2,720 2,720 0
OFRAINMMARFL 40,0003 ~68% 2,720
04 RA2SYRFAH 6,480 6,480 0
ORANzELRFA 540,000& 128 6,480
204 N2 A 143,580 146,100 N2,520
01 MY+ 6.000 6,000 0
o2 (43) 400,000 «1& x 123 4,800
On&(55) 100,000& 1H 123 1,200
02 HNE2XH 112,380 115,500 A3,120
O4= 400,000 x 1€ »12E 4,800
o535 250,000 x 1«12 3,000
O6= 155,000& x14F «12& 26,040
=) 140,000& »37Z «12& 62,160
©8~9= 105,000 «11E 128 13,860
©J1=58~9= 105,000& »2H =122 2,520
03 SRzt 25,200 24,600 600
ool & sl (62016t 50,0003 »42H 123 25,200
Jl23dd(eaa) 268,480 401,116 A 132,636
| =&l 268,480 401,116 A 132,636
201 LEt=EH| 75,280 210,316 A 135,036
01 AtR2teld] 75,280 110,456 A35,176
OgBt=2H| 27,640
OsdMa=E 27,640,000& 27,640
O= gl 47,640
OosHNa=g 47,640,000& 47,640
202 Oddl 193,200 190,800 2,400
01 =Wy 133,200 133,200 0
O2 L0 tl 102,000,000& 102,000
O==E2H2 2LAYI 100,000 *26F 128 31,200
02 XN 60,000 57,600 2,400
(C)=FaPNEAN s PN = 200,000& 25 122 60,000
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